The Quadratic Formula
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Why do we use the quadratic formula?

e The quadratic formula allows you to solve___ (A quadratic
equation

e Itis used when the other methods (grouping or x-box) of
factoring ___A0¢S ot wovk

What are "a", "b" and "c¢"?

Remember that quadratic equations are in the form
y=_0»a x2 + x+_C

These values are the co-efficient terms in a quadratic equation\

Example: y=3x2-4x + 2
a= {{D : b= “H
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/ Don't fall for these traps!
A The quadratic formula only uses the

Example: Solve x*?+2x—8=0
a=1,b=2,c=-8
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How can you rememb’ r'the

0 formula?l
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e The formula is equal to " X o
using it to find x or the roots).

(Remember we are

Example 1: Solve for the zeroes (roots) of the following

quadratic equation: x2 + 9x +14=0
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' 1. Define a, b, and c.
i (meake sure it is in standard

i form) % Solve egquinty UV\ EW

; 2. Write the quadratlc
i formula.
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i 3. Substitute the given
. values into the

i formula.
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Example 2: Solve for the zeroes (roots) of the following
quadratic equation: 2x2 + 7x = 11
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